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34
(@ c) Z] ¢=l B,=90 | B=80 | B,=70 | Bi=60 | Bs=50
(a1, ¢=0.02) 190 | 167 | 41 | 2 0
(82, ¢:=0.02) 193 | 151 | 49 | 7 0
(a3, ¢=0.02) 134 161 | 93 | 12 | 0
(8, ¢=0.03) 138 170 | 77 | 15 | 0
(as. ¢5=0.03) 159 | 140 | 83 | 18 | 0
(86, ¢¢=0.02) 131 157 | 94 | 18 | 0
(ar ¢=0.02) 184 | 141 | 66 | 9 0
(a5, ¢5=0.02) 176 | 151 | 61 | 12 | 0
(a5, ¢5=0.02) 167 | 163 | 63 0
(310, €0=0.02) 162 | 176 | 55 0
(a. €1=0.03) 128 213 | 49 | 10 | 0
(an, ¢1,=0.03) 113 222 57 8 0
(a €=0.02) 182 | 175 | 36 | 7 0
(a1 €1=0.02) 185 | 159 | 44 | 12 | 0
(a5, €15=0.01) 126 | 169 | 88 | 17 | 0
(ass, €16=0.04) 130 178 | 72 | 20 | 0
(ar ¢=0.03) 151 148 | 78 | 23 | 0
(a €=0.02) 123 | 165 | 89 | 23 | o
(a1 €v=0.02) 176 | 149 | 61 | 14 | 0
(axy cx=0.02) 168 | 159 | s6 | 17 | o
(a1, €2=0.02) 159 | 171 | s8 | 12 | 0
(am, €x=0.04) 154 184 | 50 | 12 | 0
(8. €x=0.04) 120 221 | 4 | 15 | 0
(a2, €2=0.02) 105 | 230 | s2 | 13| o
(a5 ¢=0.03) 175 182 | 31 | 12 | 0
(as, €=0.03) 178 | 166 | 39 | 17 | o0
(az ¢2=0.04) 119 | 176 | 83 | 2 | 0
(ass, =0.04) 123 | 185 | 67 | 25 | o0
(8 €=0.04) 144 155 | 73 | 28 | 0
(as ¢x=0.02) 116 172 | 84 | 28 | 0
(a3 €5=0.02) 169 | 156 | 56 | 19 | 0
(as €=0.02) 161 | 166 | 51 | 22 | 0
(ass. ¢=0.09) 152 178 | s3 | 17 | 0
(a3, €5=0.09) 147 191 | 45 | 17 | 0
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34
d=2,cu,
y

=
(j:1’2’3,475)5D=CxU:(Cl)]><34X(uij/n)34><5=(dj)l><5=
(di, do, ds, dy, ds),

C ,D=CXU,

’ S’

B:{ by, bs, by, by, bs}( N N
N N 5

), S=DxBT,
A 34 ,

S B=(90, 80, 70, 60, 50),

400 s 34

’ C]><34;

Ci4=(0.02 0.02 0.02 0.03 0.03 0.02 0.02 0.02
0.02 0.02 0.03 0.03 0.02 0.02 0.01 0.04 0.03 0.02 0.02
0.02 0.02 0.04 0.04 0.02 0.03 0.03 0.04 0.04 0.04
0.02 0.02 0.02 0.09 0.09)

Usps 34 5 ,
(0.475 0.4175 0.1025 0.005 0),
400 a
) 33 )
Usiss

D1y5=C1x3:XUss=(0.371625 0.438675
0.14965 0.04005 0) xs3
S= D, XB™=(0.371625 0.438675
0.14965 0.04005 0)1x5X( 90 80 70 60 50) 5%X1=
81.41875;

( N Y N Y )
B=(90, 80, 70, 60, 50),
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